B VCE & PDF https://lwww.geekcert.com/4a0-c01.html
' 2024 Latest geekcert 4A0-C01 PDF and VCE dumps Download
: GeekCert.com

AA0-CO1R4AS

Nokia NRS Il Composite Exam

Pass Nokia 4A0-C01 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/4a0-c01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nokia
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

4A0-CO1 PDF Dumps | 4A0-C01 Study Guide | 4A0-C01 Exam Questions 1/3


https://www.geekcert.com/4a0-c01.html
https://www.geekcert.com/4a0-c01.html
https://www.geekcert.com/4a0-c01.html

VCE & PDF https://lwww.geekcert.com/4a0-c01.html
2024 Latest geekcert 4A0-C01 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

If the destination IP address of a received unlabeled packet is successfully matched in the FIB, which of the following
statements are true? Choose two answers.

A. A PUSH label stack operation must be performed.

B. The outgoing interface and next-hop address will be determined from the FIB.
C. The packet can be forwarded as a labeled or unlabeled packet.

D. A POP label stack operation may be performed.

Correct Answer: BC

QUESTION 2

Which of the following correctly describes an IPV6 header compared to an IPv4 header?

A. The IPv6 header has a header checksum field, header length field and no fragmentation offset field.

B. The IPv6 header has no header checksum field, no header length field and does have a fragmentation offset field.
C. The IPv6 header has a header checksum field, no header length field and no fragmentation offset field.

D. The IPv6 header has no header checksum field, no header length field and no fragmentation offset field.

Correct Answer: D

QUESTION 3

Which of the following about route distinguishes on the Alcatel-Lucent 7750 SR is TRUE?
A. Route distinguishes are used to ensure that VPRN IP prefixes are globally unique.

B. Route distinguishes are appended to IPv4 prefixes to form IPv6 prefixes.

C. Route distinguishes are used to determine which routes a VPRN should import.

D. CE routes use a route distinguisher to indicate which VPRN they are associated to.

Correct Answer: A

QUESTION 4
Which of the following best describes downstream unsolicited label distribution?

A. An LSR may answer requests for label mappings immediately, without waiting for a label mapping from the next-hop.
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B. An LSR may advertise label mappings to all peers for which it might be a next-hop for a given FEC.
C. An LSR propagates a label mapping downstream for a FEC, only if it has a label mapping for the FEC next-hop.
D. An LSR will only distribute a label for a FEC when it has been requested to do so.

Correct Answer: B

QUESTION 5

An IS-IS TE enabled router has an interface on a 500Mbps link and it is configured with a 25% subscription. If this
interface is not used by any LSPs. what value will be shown in the Reservable Bandwidth sub-TLV?

A. 125 Mbps
B. 500 Mbps
C. 625 Mbps
D. 2000 Mbps

Correct Answer: A
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